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line := proc(FL, t)
locala, b, ¢, d;

a:=FLyy;

b:= FLoy;

c:=FL;

d:=FLiy;

t — piecewise(t < a, 0, a <tand t <b, cxt+d, b<t,0)
end proc
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end do;
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gboobooboooobooooboboooooboooon

deriv := proc(N, ¢)
localfN, t, a, b, ¢, R, n, m, l, M,;
fN := cantor : —fen(N, t);
M = nops(N (1)) ;
¢ = [sea([op(3, op(n, N (1)), op(d, op(n, IN(E))], n = 1..M)]
a = [seq(subs(t = 0, op(1, op(1, cn1))), n = 1..M)];
b := [seq(—subs(t = 0, op(1, op(2, ¢n1))), n =1..M)];

formto M do
R, := studentiniparts (Int(Crmo * diff (¢(2), t), t = am-.bim), Cm2)
end do;
simplify (sum(R;, [ = 1..M))
end proc

deriv0000D000000000000O0000000Oop(n,X) OO
00 X O0OODOOOnops(X) 0000000000 n0000000000
OO0fN()OOM OO0 s;4s9+---4sy 0000000s, = op(n, N(t))
000000000 s, 00000

0, t<ap
Sp = cpt+dy, —t—a,<0and t—5b, <0
0, b, <t

gobobooooooboooebuobbonO
t<ap, 0, -t—a, <O0andt—10b, <0, cpt +d,, b, <t, 0
0000000000 op(3,0p(n, fN(t))),op(4,op(n, fN(t)))] O
[-t—a, <0and t—b, <0, cpt+dy]
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0000000000000000
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9 /9 g /3 9 [7/9 9 !
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2.3 Besicovitch OO0 OQO0O00O0O

0 2.20 Besicovitch 000 00000000000000000000
0000000000000 22000 2300000000000000
Besicovitch 000000000
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By(e) ={(z,9);(z —a)* + (y = b)* < p*}

goood

00 22 00000000 CcCcR?2000000 ceCcOO000p:.>0
gbooooboooobo
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000 CcO0O0000000000
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ceC
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B ={B, (cx); k=0,1,---,J}, OOO0Org = pe,,
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gooood

Brj/?)(cj) n Bm/3(ci) = (Z)a J 7é i, (17)
C'LgBr]/Q(cj)a 2#37 (18)
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0000000007 =U%y Jn0 SO000000000000||7| <e000000
000Je 00 Jnm €Uy Jn,e 0 10 10000 90000000000

(n+m)(n+m+1)
2

¢ : N? 3 (n,m) +néeN

gooooobooooooooobobooooooo

28



0022000000 22000000000 ,000 B, (c)000O
obooooooboooooboon

-1
Cj ¢ U B"'k (Ck)
k=0

00éi>;000n~<2r,0000(17)0 (13)000000000000
000 2900(18)000000i>;00000000000000000i<j
0000000000000¢ € B,,(¢;) 0000000 | —c¢j| <rj <70
00D000¢ €B,, () 00000000000000000(19 0000
00220000000000

002300230000003%0000000000220002400
0000000000000000000000000000000000
0000380

000000000000 Maple 0000 Besicovitch 00000000
000000000000 CO BO00000000000000 2200
0230 % 0B,0000000000

028 0000000O0OOD COOUOOOOOU {p.;0000000OODO
000 Maple 0O0DOOO0O ingredients 00O 0O0ODO ingredients OO0
0000000000000 00O0OD00O0000 centres DO0ODOOOO
000000000000 0000 radii O00O0OOcentresO0 00O
(-r,r) 00 NOOOOO nO0%®0000000000000radii 000
(0.01,)00 NOOUOOOUOOOOOOUOOOOOOOOOOO NO
0000000000000 0000000000OC0OCOOO0O0O00 uniform
oooofo

> ingredients:=module()

> export uniform, centres, radii;

> uniform:=proc(r::constant..constant)

> local intrange, f:

> intrange:=map(x->round(x*10°Digits) ,evalf(r)):
> f:=rand(intrange):

> (evalf@eval(f))/10°Digits:

> end;

3TJ<oo 00 L<JODOOO

30000000000 3300000000000000

000000 »n=200000000000000000000000000

40M.B.Monagan 0 0 Maple 8 Advanced Programming Guide. 2002. Waterloo Maple,
Inc., p.9.
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> centres:=proc(n,R,N) # n::dimension
> local c,i,j:

> for i from 1 to n do

> c[i] :=uniform(-R..R):

> end do:

> [seq([seq(c[i] ) ,i=1..n)],j=1..0)]:

> end proc;

> radii:=proc(r,N)

> local ril,j:

> rl:=uniform(0.01..r):
> [seq(r1(0),j=1..N)]

> end proc;

> end module:

gobobooobooboobonooo

029 00000OOOOOOOCOOOOOr-r>0o00O0DOCOOOO
0000 ROODOOODODOOOOO covering OO DO OO covering O
goooooooooooobooooooooboooboogoocoogo roo
000000000000 0O000DOOo00DOO00bOO0O0O0Dn vase O
o0oooooooooooooooo coooooooo »r0O0O0ooo
0000000000000 00000000D0OOcovering00000O0O
ooooooooooooobocCcoo0o0 ROODODOOODDOOO
0o00o00o0D00o0oobo0obo0oo0D0oboOoOn covers OO0

> covering:=module()

> export base, covers;

> base:=proc(C,r) # C:: [seq], r::scalar>0
> local i, N:

> N:=nops(C):

> [seq([C[i],r],i=1..N)]

> end proc;
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> covers:=proc(C,R) # C:: [seq], R::list
> local N, k:

> N:=nops(C):
> if nops(R)<>N then RETURN(‘bad data in covering:-covers‘)
end if:

> [seq([C[k],R[k]],k=1..NM)]:

> end proc;

> end module:

Ub0bO0bO0b0O0bO0bO0DbO00 coversplot UOO 23000000
goooog

0 210 0O000O0OO0OO0ODOO pesicovitch OO UODOODOO pickonel
remains(lbesico U0 U0 Opickone U OO UOOOOOOODOOODODOO
gobooOooobooooboooonb ececbObOO0OOOeccOOOOOO
gbobOoooooboooooooooboobobOobOobong eedn
oboooobooooobobooobooooooboobooooobooooon
OD0Oremains O0Occ OO pickone OO OOOOO0OO0OO0OOOO0O0O0O
gbobobooooboobobooobboobobceccbObOOOOOOoOODOOOO
gbooooobooooooon

besico UUDOUDOOOOO ccOOOOU0 pickone O remains U0 OO
oooooooooo0oobo0obbo00d00bcec OO0 ¢cg=ccgn
g1 =pickone(co)d c; =remains(co) 000000000 mMm=1,2,--- 00
00 g, =pickone(c,,—1)0 ¢y, =remains(c,,—1) 000000000000
O000Ocy =0000 MOOOOOObesicoOODOOODOOOOO
91, 92, -+, gu] DO OO

> besicovitch:=module()

> export pickone, remains, besico;

> pickone:=proc(cc) # cc:=covering:-covers:
> local i,RR,m,j,cl,c2:

> m:=nops(cc):

> RR:=max(seq(cc[i] [2],i=1..m)):

> cl:={}:

> for j from 1 to m do

> if cc[j1[2]=RR then cl:=cl union {cc[jl}

> end if:
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> end do:
> c2:=convert(cl,list):
> c2[1]:

> end;

> remains:=proc(cc)

> 1local i, f, r, c, m:

> f:=pickone(cc) [1]:

> r:=pickone(cc)[2]:

> c:={}:

> m:=nops(cc):

> for i from 1 to m do

> if (cclil [11[1]1-£[11)"2+(cc[i] [1] [2]-£[2])"2>r"2
> then c:=c union {cc[il}
> end if

> end do:

> convert(c,list)

> end proc;

> Dbesico:=proc(cc)

> local g, c;

> gi={}:

> ci=cc:

> while nops(c)>0 do

> g:=g union {pickone(c)}:
> c:=remains(c):

> end do:

> convert(g, list):

> end proc;

> end module:

besico O O0ODOO 220000000000000000000000O0O
gbooo1oooooood
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gbooobooboboboooooboobo—-20<ez,y<2000000
ooo0ogoooogo coooogoo

> CO:=ingredients:-centres(2,2.0,1000):
goO00oloooOOO0OO0OODOOOODOOO RODODOOOO

> RO:=ingredients:-radii(0.5,1000):
cooooooopopoooopooo coopoooooooooo oolbDoOO
oo cBoOOoOOd

> CB:=covering:-base(C0,0.01):
cood0oOoOoooooooOoOoOoOoOocCcoO0OoOoOoOUOoOoOoUOddRrRoO
gopooooooooooo ecvoooo

> CV:=covering:-covers(CO,R0):
O0000OCvVvOO0Oo0Oo0D00O Besicovitch 0O BCVOOOOOO
> BCV:=besicovitch:-besico(CV):

CBOCVOOO BCVOOOODOOOODOOODDOOOOOOO coversplot
googo

00 23 0000000000000O00D0O0O0O0OO0OO0OO0 CcOO000
000000000000000000000000000 coversplot O
OOOcoversplot 00000 COO00D0O0O0O0DOO0OODOOOOOODOOO
000000 érod hutese 000000040

> coversplot:=proc(C,iro,hutosa)
> local k, N, d:

> N:=nops(C):

> with(plottools):

> for k from 1 to N do
> d[k] :=circle(C[k] [1],C[k] [2],

> color=iro,thickness=hutosa):
> end do:
> plots[display] (seq(d[k] ,k=1..N)):

> end proc:

circle 00000 plottools UUDUODOODODOODODOOOOODOODO
gbooobooboooooboooobooon

4l00000éro 0 Maple 0000000000 colorisUOOODODO
> coloris:=[aquamarine, black, blue, navy, coral, cyan, brown, gold,
green, gray, khaki, magenta, maroon, orange, pink, plum, red, sienna,
tan, turquoise, violet, wheat, white, yellow]:
0000000000000 000D000000D000D00D00000000Ocoral O coloris(s)
0000hutosa O Maple D000 thickness 000000 0OODOOOOO
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0 10: 002200000

OoooopooooooceBOocvOOO dbevOOOOOOOODOOO
O0dcbOdev OO0 dbev OODOODOOOO

> dcb:=coversplot(CB,black,2):
> dcv:=coversplot(CV,yellow,1):
> dbcv:=coversplot(BCV,red,1):

00000debO0000OdevOOOOO0O0O0OdbevOOOOOOODDODO*0

oo0o0oo0o0oooooooO* o000 100000
OO00O0OO0O0O0OO0OO0 23000000000000

0 2.11 0OO0O0O0ODO decomposer OO BesicovitchOO OO OOOOOOOO
0000000000000 000000000 meetslmeetsnrmeetsmax(]
indeksU decomp O 0O OO

meets 0000000000000 0O000OO]a,b],r)O00000O0ODOO
oooooodg E=|[Ey,--,EN]O00O000O E;i=1,---,n—1,00000
odooo0odooo pooooboOoog =g,00000000000D 0O

42000000000000000000000D00000DO deb0O0O0OO0DODO devO DO
000 dbevOOOD
$00o00oo0ooo

> plots[display] (dbcv,dcb,dcv,scaling=constrained,axes=none) ;
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0000000000000 00000 F; 0000 000 meets(D,n, E)
oboooooooooooon

meetsnr 0000000 FEOOODDOOOO meets(E,,n, E) 000000
oooor0O00O0O0O00DOOOO0OO0OE, 0D0O0O0O0O0OO0O0DODODOOOO
OO0 n00000O00OO meetsnr(E,n) = nops(meets(E,,n, F)) 0000
00000000O0Omeetsmax OO0 F 00000 O0O00OOOOOOOOO
gogooobooood

meetsmax(FE) = max{ meetsnr(E,n);n=1,--- ,N}

00D0000000D0OoooOg
indeks 000 23000000 60000000 indeks(E,n) 0000
0000000000%0L =meetsmax(E)+1 0000

indeks : E > E,(=(E,n)) — me{l,---,L}

000000000000 Oindeks(E, k) = indeks(E,¢) 0000k =¢00
O000F, 0 F,0000000000000O0O0O0O00

000 Odecomp O UOindeks(E) =n 0000 EOD0OD E, 000000
0000 decomp(E,n) 0000000000 ODOOOOOO

> decomposer:=module()

> export meets, meetsnr, meetsmax, indeks, decomp;

> meets:=proc(D,n,E) # n<=nops(E)

> local j, s:

> s:={}:

> for j from 1 to n-1 do

> if (E[j1[1]1[1]1-D[1][1]1)~2+(E[j][1][2]-D[1][2]1)"2
> >(E[j][2]+D[2])"2

> then s:=s union {j}

> end if:

> end do:

> {seq(j,j=1..n-1)} minus s:

> end proc;

> meetsnr:=proc(E,n) # n<=nops(E)

> 1local D, s:

44§(Ey) =indeks(E,n) 00ODOODODO
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D:=E[n]:
s:=meets(D,n,E):
nops(s):

end proc;

meetsmax:=proc (E)

local i, N:

N:=nops(E):

max (seq(meetsnr(E,i),i=1..N)):

end proc;

indeks:=proc(E,n)

local i,j,k,M,MM,N,T,K,L,m:
K:=nops(E):

L:=meetsmax (E)+1:
N:={seq(i,i=1..L)}:

for i in N do m[i]:=i end do:
for k from L+1 to K do
M:=meets(E[k] ,k,E):
MM:={seq(m[M[i]],i=1..nops(M))}:
T:=N minus MM:

m[k] :=min(seq(T[j],j=1..nops(T))):
end do:

m[n]:

end proc;

decomp:=proc(E,n)

local N,i,j,s:

if n>meetsmax(E)+1 then [] end if:
N:=nops(E):

s:={}:

for i from 1 to N do

if indeks(E,i)=n

then s:=s union {E[i]}

end if:
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> end do:
> convert(s,list):

> end proc;

> end module:

O000D0O00DO0OBesicovitch 00 BCV 0000 Omeetsmax [0 decomp
0000000000000 0Omm = meetsmax(BCV)+1 0 0 *0Odecomp(BCV, m)0
m=1,--- ;mm U coversplot UODOUOODOUOUOOOOODOOOODOOO
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000 dbdfm) 0000000 DDOO0O0O0ODODODOOOOOODOOOO"
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00 SClab], —co<a<b<+4o0o,0000000000000000
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IS]" = inf 171 (20)
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godd
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> mm:=decomposer:-meetsmax (BCV)+1:

6ggooon

> for m from 1 to mm do dbd[m]:= coversplot(decomposer:-decomp(BCV,m),
coloris[m],3) end do:

40 11 000000000000000000000000000

> plots[display] (seq(dbd[m] ,m=1..mm), scaling=constrained,axes=none):

48DDDDDDdbd[m] OdebO00D0O00D0O0O0ODOODOOODOOOOOOO
> plots[display] (dbd[1],dcb,scaling=constrained,axes=none) ;

YOopooooooo m*(S), m(S), *(S) 000000000000000000000
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